$$
\text { ON THE RECURSIVE SEQUENCE } x_{n+1}=\frac{\alpha+\beta x_{n-k}}{f\left(x_{n}, \ldots, x_{n-k+1}\right)}
$$

Stevo Stevic


#### Abstract

The boundedness, the oscillatory behavior and the global stability of the nonnegative solutions of the difference equation $$
x_{n+1}=\frac{\alpha+\beta x_{n-k}}{f\left(x_{n}, \ldots, x_{n-k+1}\right)}
$$ is investigated, where $k \in \mathbf{N}$, the parameters $\alpha$ and $\beta$ are nonnegative real numbers and $f: \mathbf{R}_{+}^{k} \rightarrow \mathbf{R}_{+}$is a continuous function nondecreasing in each variable such that $f(0, \ldots, 0)>0$.


## 1. Introduction

In [3] the authors investigate behavior of the nonnegative solutions of the difference equation

$$
x_{n+1}=\frac{\alpha+\beta x_{n-1}}{\gamma+x_{n}}
$$

where the parameters $\alpha, \beta$ and $\gamma$ are nonnegative real numbers.
Behavior of the nonnegative solutions of the difference equation

$$
x_{n+1}=\frac{\alpha+\beta x_{n-1}}{1+g\left(x_{n}\right)}
$$

where $g$ is a nonnegative increasing function on $[0, \infty)$, was investigated in [14].
In this paper we investigate the oscillatory behavior, the boundedness character and the global stability of the nonnegative solutions of the difference equation

$$
\begin{equation*}
x_{n+1}=\frac{\alpha+\beta x_{n-k}}{f\left(x_{n}, \ldots, x_{n-k+1}\right)} \tag{1}
\end{equation*}
$$

Received February 9, 2004.
Communicated by Der-Chen Chang.
2000 Mathematics Subject Classification: Primary 39A10.
Key words and phrases: Global stability, Oscillation, Positive solution, Difference equation, Boundedness, Converge.
where $k \in \mathbf{N}$, the parameters $\alpha$ and $\beta$ are nonnegative real numbers and $f: \mathbf{R}_{+}^{k} \rightarrow$ $\mathbf{R}_{+}$is a continuous function nondecreasing in each variable such that $f(0, \ldots, 0)>0$.

This equation is a natural generalization of the above mentioned equations. Among other results in Section 5 we solve and generalize an open problem posed in [14].

Similar properties were discussed in the literature (see, e.g. [1, 2, 4, 5, 7-13, 15-18]) for several classes of nonlinear difference equations.

In what follows we may assume that the initial conditions $x_{-k}, x_{-k+1}, \ldots, x_{0}$ are positive real numbers.

In our analysis the function

$$
g(x)=f(x, \ldots, x), \quad x \geq 0
$$

plays an important role.
Let $\delta=f(0, \ldots, 0)$. Without loss of generality we may assume that $\delta=1$, since we can consider the equation

$$
y_{n+1}=\frac{\alpha_{1}+\beta_{1} y_{n-k}}{f_{1}\left(y_{n}, \ldots, y_{n-k+1}\right)}
$$

where $\alpha_{1}=\alpha / \delta, \beta_{1}=\beta / \delta$ and $f_{1}\left(z_{1}, \ldots, z_{k}\right)=f\left(z_{1}, \ldots, z_{k}\right) / \delta$.

## 2. Semicycle Analysis About a Positive Equilibrium

A positive semicycle of a solution $\left(x_{n}\right)$ of Eq. (1) consists of a "string" of terms $\left\{x_{l}, x_{l+1}, \ldots, x_{m}\right\}$, all greater than or equal to $\bar{x}$, with $l \geq-k$ and $m \leq \infty$ and such that

$$
\text { either } \quad l=-k, \quad \text { or } \quad l>-k \quad \text { and } \quad x_{l-1}<\bar{x}
$$

and

$$
\text { either } \quad m=\infty, \quad \text { or } \quad m<\infty \quad \text { and } \quad x_{m+1}<\bar{x}
$$

A negative semicycle of a solution $\left(x_{n}\right)$ Eq. (1) consists of a "string" of terms $\left\{x_{l}, x_{l+1}, \ldots, x_{m}\right\}$, all less than $\bar{x}$, with $l \geq-k$ and $m \leq \infty$ and such that

$$
\text { either } \quad l=-k, \quad \text { or } \quad l>-k \quad \text { and } \quad x_{l-1} \geq \bar{x}
$$

and

$$
\text { either } \quad m=\infty, \quad \text { or } \quad m<\infty \quad \text { and } \quad x_{m+1} \geq \bar{x}
$$

The first semicycle of a solution starts with the term $x_{-k}$ and is positive if $x_{-k} \geq \bar{x}$ and negative if $x_{-k}<\bar{x}$.

We say that a sequence $\left(x_{n}\right)$ oscillates about $\bar{x}$ if for every $n_{0} \in \mathbf{N}$ there are $p, q \geq n_{0}$ such that $\left(x_{p}-\bar{x}\right)\left(x_{q}-\bar{x}\right) \leq 0$.

The following theorem is the main result of this section and it generalizes Theorem 3.2 in [3].

Theorem 1. Let $k \in \mathbf{N}$ be fixed and consider a continuous function $H$ : $(0, \infty)^{k+1} \rightarrow(0, \infty)$ having the following properties: There is an index $i_{0} \in$ $\{1,2, \ldots, k\}$ such that $H\left(z_{1}, \ldots, z_{k}, y\right)$ is nonincreasing in each $z_{i}, i \in\{1, \ldots, k\} \backslash$ $\left\{i_{0}\right\}$, decreasing in $z_{i_{0}}$, and increasing in $y$. Let $\bar{x}$ be a positive equilibrium of the difference equation

$$
\begin{equation*}
x_{n+1}=H\left(x_{n}, \ldots, x_{n-k+1}, x_{n-k}\right), \quad n=0,1,2, \ldots \tag{2}
\end{equation*}
$$

Then, except possibly for the first semicycle, every oscillatory solution of Eq. (2) with positive initial values has semicycles of length at most $k$.

Proof. Let $\left(x_{n}\right)$ be an oscillatory solution of Eq. (2) with at least two semicycles. If a semicycle has length greater than or equal to $k$, then there is an $N \geq 0$ such that either

$$
x_{N-k}<\bar{x} \leq x_{N-k+1}, \ldots, x_{N} \quad \text { or } \quad x_{N-k} \geq \bar{x}>x_{N-k+1}, \ldots, x_{N} .
$$

Using the conditions of the theorem in the first case we obtain

$$
x_{N+1}=H\left(x_{N}, \ldots, x_{N-k+1}, x_{N-k}\right)<H(\bar{x}, \ldots, \bar{x})=\bar{x}
$$

and in the second case we get

$$
x_{N+1}=H\left(x_{N}, \ldots, x_{N-k+1}, x_{N-k}\right)>H(\bar{x}, \ldots, \bar{x})=\bar{x}
$$

as desired.
Corollary 1. Consider Eq. (1) where $\alpha, \beta>0, k \in \mathbf{N}$, the initial conditions $x_{-k}, x_{-k+1}, \ldots, x_{-1}$ and $x_{0}$ of Eq. (1) are arbitrary positive numbers and $f$ : $\mathbf{R}_{+}^{k} \rightarrow \mathbf{R}_{+}$is a continuous function nondecreasing in each variable and increasing in at least one.

Then except possibly for the first semicycle, every oscillatory solution of Eq. (1) has semicycles of length at most $k$.

## 3. The Case $\beta<1$

In this section we consider the case $\beta<1$.
Theorem 2. Consider Eq. (1), where $\alpha>0, \beta \in[0,1), k \in \mathbf{N}$, the initial conditions $x_{-k}, x_{-k+1}, \ldots, x_{-1}$ and $x_{0}$ of Eq. (1) are arbitrary positive numbers,
$f: \mathbf{R}_{+}^{k} \rightarrow \mathbf{R}_{+}$is a continuous function nondecreasing in each variable and where the function $g(x)$ satisfies the following conditions:
(a) $g(0)=1$;
(b) $g(x)$ is increasing on $[0, \infty)$;
(c) $x /(g(x)-1)$ is nondecreasing on $[0, \infty)$.

Then every positive solution of Eq. (1) converges.
Proof. First we prove that Eq. (1) has the unique positive equilibrium. The equilibrium points $\bar{x}$ of Eq. (1) satisfy the equation

$$
\bar{x}=\frac{\alpha+\beta \bar{x}}{g(\bar{x})}
$$

Let $G(x)=x-\frac{\alpha+\beta x}{g(x)}$. It is clear that $G$ is a continuous function on $[0, \infty)$ such that $G(0)=-\frac{\alpha}{g(0)}<0$ and $\lim _{x \rightarrow+\infty} G(x)=+\infty$. By a well known theorem it follows that there is an $x^{*} \in(0, \infty)$ such that $G\left(x^{*}\right)=0$. On the other hand

$$
\begin{aligned}
G(x)-G(y) & =x-y+\frac{\alpha+\beta y}{g(y)}-\frac{\alpha+\beta x}{g(x)} \\
& =\frac{(x-y) g(y)(g(x)-\beta)+(\alpha+\beta y)(g(x)-g(y))}{g(x) g(y)}>0
\end{aligned}
$$

if $x>y$. So $G(x)$ is an increasing function and consequently $x^{*}$ is the unique positive equilibrium of Eq. (1).

Further, we prove that every positive solution of Eq. (1) is bounded. We have

$$
\begin{equation*}
x_{n+1}=\frac{\alpha+\beta x_{n-k}}{f\left(x_{n}, \ldots, x_{n-k+1}\right)}<\alpha+\beta x_{n-k} \quad n=0,1,2, \ldots . \tag{3}
\end{equation*}
$$

From (3) using induction we obtain

$$
\begin{aligned}
x_{(k+1) m+r+1} & <x_{r-k} \beta^{m+1}+\alpha\left(1+\beta+\cdots+\beta^{m}\right) \\
& <x_{r-k}+\frac{\alpha}{1-\beta}, \quad \text { for all } m \in \mathbf{N} \cup\{0\} \text { and } r \in\{0,1, \ldots, k\},
\end{aligned}
$$

from which the boundedness follows.
Thus there are the finite $\liminf _{n \rightarrow \infty} x_{n}=l$ and $\lim \sup _{n \rightarrow \infty} x_{n}=L$. Letting $\liminf _{n \rightarrow \infty}$ and $\limsup \operatorname{sum}_{n \rightarrow \infty}$ in (1) we obtain

$$
l \geq \frac{\alpha+\beta l}{g(L)} \quad \text { and } \quad L \leq \frac{\alpha+\beta L}{g(l)}
$$

From this and by (c) we obtain

$$
\alpha+(\beta-1) L \geq L(g(l)-1) \geq l(g(L)-1) \geq \alpha+(\beta-1) l .
$$

Since $\beta \in[0,1)$ we obtain $l=L=x^{*}$, as desired.
Example 1. Consider the difference equation

$$
x_{n+1}=\frac{\alpha+\beta x_{n-k}}{1+x_{n}^{\gamma}}, \quad n=0,1, \ldots
$$

where $k \in \mathbf{N}, \alpha \in(0, \infty), \beta \in[0,1)$ and $\gamma \in(0,1)$. Then every positive solution of the equation converges.

Similarly to Theorem 2 we can prove the following theorem.
Theorem 2 (a). Consider the difference equation

$$
\begin{equation*}
x_{n+1}=\frac{\alpha+\beta x_{n}}{f\left(x_{n}, \ldots, x_{n-k}\right)}, \quad n=0,1,2, \ldots \tag{4}
\end{equation*}
$$

where $\alpha>0, \beta \in[0,1), k \in \mathbf{N}$, the initial conditions $x_{-k}, x_{-k+1}, \ldots, x_{-1}$ and $x_{0}$ of Eq. (4) are arbitrary positive numbers, $f: \mathbf{R}_{+}^{k} \rightarrow \mathbf{R}_{+}$is a continuous function nondecreasing in each variable and where the corresponding function $g(x)$ satisfies all conditions as in Theorem 2. Then every positive solution of Eq. (4) converges.

## 4. The Case $\beta>1$

In this section we assume that $\beta>1$ and show that there exist unbounded solutions of Eq. (1). Although it is interesting to know the behavior of all solutions of Eq. (1), we provide results only for the case $k=2 m+1$ and the odd terms of the solutions do not affect the denumerator in Eq. (1). This means that we focus our attention on the case

$$
f\left(u_{1}, u_{2}, u_{3}, \ldots, u_{2 m-1}, u_{2 m}, u_{2 m+1}\right)=F\left(u_{1}, u_{3}, \ldots, u_{2 m-1}, u_{2 m+1}\right),
$$

and so Eq. (1) takes the form

$$
\begin{equation*}
x_{n+1}=\frac{\alpha+\beta x_{n-2 m-1}}{F\left(x_{n}, x_{n-2}, x_{n-4}, x_{n-2 m}\right)} . \tag{5}
\end{equation*}
$$

We assume that $F: \mathbf{R}_{+}^{m+1} \rightarrow \mathbf{R}_{+}$is a given continuous function, nondecreasing in each variable, increasing in at least one and $F(0, \ldots, 0)=1$. Hence $g(x)$ is a real continuous function defined on the interval $[0, \infty)$ which satisfies conditions
(a) and (b) in Theorem 2 and consequently $g^{-1}$ is continuous increasing function on $[0, \infty)$.

In this case we show that there exist positive solutions of Eq. (5), which are unbounded, moreover we show that there exist positive solutions of Eq. (5) such that the subsequence $x_{2 n+1} \rightarrow 0$ as $n \rightarrow \infty$ and $x_{2 n} \rightarrow \infty$ as $n \rightarrow \infty$. Choose

$$
x_{-(2 m+1)}, \ldots, x_{-1} \in\left(0, g^{-1}(\beta)\right)
$$

and

$$
\min \left\{x_{-2 m}, \ldots, x_{0}\right\}>g^{-1}\left(\frac{\alpha}{g^{-1}(\beta)}+\beta\right)
$$

It is clear that

$$
x_{1}=\frac{\alpha+\beta x_{-(2 m+1)}}{F\left(x_{0}, \ldots, x_{-2 m}\right)}<\frac{\alpha+\beta g^{-1}(\beta)}{g\left(\min \left\{x_{0}, \ldots, x_{-2 m}\right\}\right)}<g^{-1}(\beta)
$$

and

$$
x_{2}=\frac{\alpha+\beta x_{-2 m}}{F\left(x_{1}, \ldots, x_{-(2 m-1)}\right)}>\frac{\alpha+\beta x_{-2 m}}{F\left(g^{-1}(\beta), \ldots, g^{-1}(\beta)\right)}=x_{-2 m}+\frac{\alpha}{\beta} .
$$

Similarly we have

$$
x_{2 s-1}=\frac{\alpha+\beta x_{-(2(m-s+1)+1)}}{F\left(x_{2 s-2}, \ldots, x_{2 s-2 m-2}\right)}<\frac{\alpha+\beta g^{-1}(\beta)}{g\left(\min \left\{x_{2 s-2}, \ldots, x_{2 s-2 m-2}\right\}\right)}<g^{-1}(\beta)
$$

and

$$
x_{2 s}=\frac{\alpha+\beta x_{-2(m-s+1)}}{F\left(x_{2 s-1}, \ldots, x_{2 s-(2 m+1)}\right)}>\frac{\alpha+\beta x_{-2(m-s+1)}}{F\left(g^{-1}(\beta), \ldots, g^{-1}(\beta)\right)}=x_{-2(m-s+1)}+\frac{\alpha}{\beta}
$$

for $s=2, \ldots, m+1$.
By induction we obtain

$$
x_{2 n-1}<g^{-1}(\beta) \quad \text { and } \quad x_{2 s+(2 m+2) l}>x_{2 s+(2 m+2)(l-1)}+(l+1) \frac{\alpha}{\beta}
$$

for $l \geq 0$ and $s=1,2, \ldots, m+1$. Hence $\lim _{n \rightarrow \infty} x_{2 n}=\infty$ and consequently $\lim _{n \rightarrow \infty} x_{2 n+1}=0$.

If $\alpha=0$, then as above $x_{2 n-1} \in\left(0, g^{-1}(\beta)\right)$ for all $n \in \mathbf{N}$ and $x_{2 s+(2 m+2) l}>$ $x_{2 s+(2 m+2)(l-1)}>g^{-1}(\beta)$ for all $l \in \mathbf{N} \cup\{0\}$ and $s=1,2, \ldots, m+1$. Hence the limits $\lim _{l \rightarrow \infty} x_{2 s+(2 m+2) l}$ are finite or $+\infty$. Assume that all these limits are finite, say $p_{s}$. Since the sequence $\left(x_{2 n-1}\right)$ is bounded there is finite $\limsup _{n \rightarrow \infty} x_{2 n-1}=$ $L \geq 0$. Assume that $L>0$. Then letting $n=2 r \rightarrow \infty$ in (5) we obtain

$$
L \leq \frac{\beta L}{F\left(p_{s}, \ldots, p_{s-m-1}\right)}<\frac{\beta L}{F\left(g^{-1}(\beta), \ldots, g^{-1}(\beta)\right)}=L
$$

which is a contradiction. Hence $L=0$.

## 5. The Case $\beta=1, \alpha>0$

In this section we consider the equation:

$$
\begin{equation*}
x_{n+1}=\frac{\alpha+x_{n-k}}{f\left(x_{n}, \ldots, x_{n-k+1}\right)} \quad n \in \mathbf{N} \tag{6}
\end{equation*}
$$

The equilibrium points $\bar{x}$ of Eq. (6) satisfy the equation $\bar{x} g(\bar{x})=\bar{x}+\alpha$. Since the function $x(g(x)-1)$ is increasing there is the unique positive equilibrium $\bar{x}=x^{*}$, of Eq. (6).

Before we formulate and prove the main result we need an auxiliary result which is incorporated in the following lemma.

Lemma 1. Let $h$ be a function which satisfies the conditions
(a) $h(0) \geq 0$.
(b) $h(x)$ is increasing on $[0, \infty)$;
(c) $x / h(x)$ is nondecreasing on $[0, \infty)$. Then for given $l, L, \alpha>0$ such that $l<L$, there exist $l_{0}$ and $L_{0}$ such that

1. $0<l_{0} \leq l$ and $L \leq L_{0}$;
2. $l_{0} h\left(L_{0}\right) \leq \alpha \leq h\left(l_{0}\right) L_{0}$.

Proof. Since $l<L$ and by $(c)$ we see that $l h(L) \leq h(l) L$. Now we look at the number $\alpha$. There are three cases.
(1) (1) $l h(L) \leq \alpha \leq h(l) L$. There is nothing to prove.
(2) $\alpha<l h(L)$. Now we may fix $L$ and decrease the number $l$. By continuity of the functions $x h(L)$ and $h(x) L$, and since $x h(L) \leq h(x) L$ for $x<L$, we obtain that there exists $l_{0}>0$ such that $l_{0} h(L) \leq \alpha \leq h\left(l_{0}\right) L$, as desired.
(3) $h(l) L<\alpha$. Now we may fix $l$ and increase the number $L$. By continuity of the functions $l h(x)$ and $h(l) x$, and since $l h(x) \leq h(l) x$ for $l<x$, we obtain that there exists $L_{0}$ such that $l h\left(L_{0}\right) \leq \alpha \leq h(l) L_{0}$.

Theorem 3. Consider Eq. (6), where $\alpha>0, k \in \mathbf{N}$, the initial conditions $x_{-k}, x_{-k+1}, \ldots, x_{-1}$ and $x_{0}$ of Eq. (6) are arbitrary positive numbers, $f: \mathbf{R}_{+}^{k} \rightarrow$ $\mathbf{R}_{+}$is a continuous function nondecreasing in each variable and increasing in at least one, the function $x /(g(x)-1)$ is nondecreasing and $g(0) \geq 1$. Then every solution of Eq. (6) is bounded and persists.

Proof. Choose $l$ and $L$ such that $L>\max \left\{x_{-k}, \ldots, x_{0}\right\}$ and $\min \left\{x_{-k}, \ldots, x_{0}\right\}>$ $l>0$. By Lemma 1 applied on $h(x)=g(x)-1$, we may also assume that $l(g(L)-1) \leq \alpha \leq(g(l)-1) L$. Now we may use mathematical induction to prove the result. Assume the statement is true for $x_{-k}, \ldots, x_{0}, \ldots, x_{n}$, that is,

$$
l \leq x_{i} \leq L \quad \text { for all } \quad i=-k, \ldots, 0,1, \ldots, n .
$$

Then

$$
x_{n+1}=\frac{\alpha+x_{n-k}}{f\left(x_{n}, \ldots, x_{n-k+1}\right)} \leq \frac{\alpha+L}{g(l)} .
$$

We claim that $\frac{\alpha+L}{g(l)} \leq L$. But this is obvious since

$$
\alpha+L \leq g(l) L \Leftrightarrow \alpha \leq(g(l)-1) L .
$$

Similarly,

$$
x_{n+1}=\frac{\alpha+x_{n-k}}{f\left(x_{n}, \ldots, x_{n-k+1}\right)} \geq \frac{\alpha+l}{g(L)} .
$$

It is easy to see that $x_{n+1} \geq l$. The proof is therefore complete.
Corollary 2. Consider the difference equation

$$
\begin{equation*}
x_{n+1}=\frac{\alpha+x_{n-k}}{1+\sum_{i=0}^{k-1} \beta_{i} x_{n-i}}, \tag{7}
\end{equation*}
$$

where $k \in \mathbf{N}, \alpha>0, \beta_{i} \geq 0, i=0, \ldots, k-1, \sum_{i=0}^{k-1} \beta_{i}>0$, the initial conditions $x_{-k}, x_{-k+1}, \ldots, x_{-1}$ and $x_{0}$ of Eq. (7) are nonnegative numbers. Then every solution of Eq. (7) is bounded and persists.

Now we are in a position to formulate and prove a global convergence result.
Theorem 4. Consider Eq. (6), where $\alpha>0, k \in \mathbf{N}$, the initial conditions $x_{-k}, x_{-k+1}, \ldots, x_{-1}$ and $x_{0}$ of Eq. (6) are arbitrary positive numbers, $f: \mathbf{R}_{+}^{k} \rightarrow$ $\mathbf{R}_{+}$is a continuous function nondecreasing in each variable and increasing in at least one, the function $x /(g(x)-1)$ is increasing and $g(0) \geq 1$. Then every solution of Eq. (6) converges.

Proof. By Theorem 3 the sequence $\left(x_{n}\right)$ is bounded. Thus there are the finite $\lim \inf _{n \rightarrow \infty} x_{n}=l$ and $\lim \sup _{n \rightarrow \infty} x_{n}=L$, moreover $l>0$. Letting $\lim \inf _{n \rightarrow \infty}$ and $\lim \sup _{n \rightarrow \infty}$ in (6) we obtain

$$
l \geq \frac{\alpha+l}{g(L)} \quad \text { and } \quad L \leq \frac{\alpha+L}{g(l)} .
$$

From this and since $x /(g(x)-1)$ is increasing we obtain

$$
\alpha \geq L(g(l)-1)>l(g(L)-1) \geq \alpha
$$

which is a contradiction. Hence $l=L=x^{*}$, as desired.
Remark 1. Theorem 4 solves the open problem in [13].
Remark 2. The condition $x /(g(x)-1)$ is increasing, in Theorem 4, cannot be replaced by $x /(g(x)-1)$ is nondecreasing. Indeed, it is easy to see that the difference equation

$$
x_{n+1}=\frac{\alpha+x_{n-1}}{1+x_{n}}, \quad n=0,1, \ldots,
$$

has period two solutions.

## 6. The Case $\alpha=0$

In this section we consider Eq. (1) where $\alpha=0$. The case $\alpha=0$ and $\beta>1$ was considered in Section 4. If $\alpha=0, \beta<1$, then we have

$$
\begin{equation*}
x_{n+1}=\frac{\beta x_{n-k}}{f\left(x_{n}, \ldots, x_{n-k+1}\right)} \quad n \in \mathbf{N} . \tag{8}
\end{equation*}
$$

From which it follows that

$$
x_{n+1}<\beta x_{n-k} \quad n \in \mathbf{N} .
$$

Thus the zero equilibrium is a geometrically global attractor for all positive solutions of Eq. (8) (see, Definition 1 in [6]).

If $\alpha=0, \beta=1$, then it is easy to prove the following result:
Theorem 5. Assume that $\alpha=0$ and $f\left(u_{1}, u_{2}, \ldots, u_{k}\right)$ is continuous and increasing with respect to each variable in a right neighborhood of 0 . If it holds $g(0)=1$, then every positive solution of Eq. (8) converges to a period $-(k+1)$ solution of the form

$$
p, 0,0, \ldots, 0, p, 0,0, \ldots, 0, p, \ldots
$$

Remark 3. In [3] the following problem is posed:
Is there a solution of the difference equation

$$
x_{n+1}=\frac{x_{n-1}}{1+x_{n}}, \quad x_{-1}, x_{0}>0, \quad n=0,1,2, \ldots
$$

such that $x_{n} \rightarrow 0$ as $n \rightarrow \infty$ ?
The positive answer to a more general problem is given in [11]. For readers who are interested in this area we leave the following problem:

Open Problem 1. Let the function $f$ be as in Theorem 5 and $g(0)=1$ and $k \geq 2$. Is there a solution of Eq. (8) such that $x_{n} \rightarrow 0$ as $n \rightarrow \infty$ ?

## References

1. A. M. Amleh, E. A. Grove, G. Ladas and D. A. Georgiou, On the recursive sequence $y_{n+1}=\alpha+\frac{y_{n-1}}{y_{n}}$, J. Math. Anal. Appl., 233 (1999) 790-798.
2. D. C. Chang and S. Stevic, On the recursive sequence $x_{n+1}=\alpha+\frac{\beta x_{n-1}}{1+g\left(x_{n}\right)}$, Appl. Anal., 82 (2003), 145-156.
3. C. H. Gibbons, M. R. S. Kulenovic and G.Ladas, On the recursive sequence $x_{n+1}=$ $\frac{\alpha+\beta x_{n-1}}{\gamma+x_{n}}$, Math. Sci. Res. Hot-Line, 4 (2000), 1-11.
4. C. H. Gibbons, M. R. S. Kulenovic, G.Ladas and H.D.Voulov, On the trichotomy charachter of $x_{n+1}=\frac{\alpha+\beta x_{n}+\gamma x_{n-1}}{A+x_{n}}$, J. Differ. Equations Appl., 8 (2002), 75-92.
5. V. L. Kocic and G. Ladas, Global Behaviour of Nonlinear Difference Equations of Higher Order with Applications, Kluwer Academic Publishers, Dordrecht, 1993.
6. S. Stevic, Behaviour of the positive solutions of the generalized Beddington-Holt equation, Panamer. Math. J., 10(4) (2000), 77-85.
7. S. Stevic, A generalization of the Copson's theorem concerning sequences which satisfy a linear inequality, Indian J. Math., 43 (2001), 277-282.
8. S. Stevic, On the recursive sequence $x_{n+1}=-\frac{1}{x_{n}}+\frac{A}{x_{n-1}}$, Int. J. Math. Math. Sci. 27 (2001), 1-6.
9. S. Stevic, A note on the difference equation $x_{n+1}=\sum_{i=0}^{k} \frac{\alpha_{i}}{x_{n-i}^{\rho_{i}}}$, J. Differ. Equations Appl., 8 (2002), 641-647.
10. S. Stevic, A global convergence result, Indian J. Math., 44 (2002), 361-368.
11. S. Stevic, A global convergence results with applications to periodic solutions, Indian J. Pure Appl. Math., 33 (2002), 45-53.
12. S. Stevic, On the recursive sequence $x_{n+1}=x_{n-1} / g\left(x_{n}\right)$, Taiwanese J. Math. 6 (2002), 405-414.
13. S. Stevic, On the recursive sequence $x_{n+1}=g\left(x_{n}, x_{n-1}\right) /\left(A+x_{n}\right)$, Appl. Math. Lett., 15 (2002), 305-308.
14. S. Stevic, On the recursive sequence $x_{n+1}=\frac{\alpha+\beta x_{n-1}}{1+g\left(x_{n}\right)}$, Indian J. Pure Appl. Math. 33 (2002), 1767-1774.
15. S. Stevic, Boundedness and persistence of solutions of a nonlinear difference equation, Demonstratio Math. 36 (2003), 99-104.
16. S. Stevic, On the recursive sequence $x_{n+1}=\frac{A}{\prod_{i=0}^{k} x_{n-i}}+\frac{1}{\prod_{j=k+2}^{2(k+1)} x_{n-j}}$, Taiwanese J. Math., 7 (2003), 249-259.
17. S. Stevic, On the recursive sequence $x_{n+1}=\alpha_{n}+\frac{x_{n-1}}{x_{n}}$ II, Dynam. Contin. Discrete Impuls. Systems, 10a (2003), 911-917.
18. S. Stevic, Periodic character of a class of difference equation, J. Differ. Equations Appl., 10(6) (2004), 615-619.

Stevo Stevic<br>Mathematical Institute of Serbian Academy of Science,<br>Knez Mihailova 35/I,<br>11000 Beograd, Serbia,<br>E-mail: sstevic@ptt.yu; sstevo@matf.bg.ac.yu

